_gl__

(2) EREREES

D — BB (SO,: FF/HfE)

TEEA | HrGEh BVBED 004] BEEEOREN |
' | A= O.1ppm%i& | 0.04ppm% 1R | BEYE | ppmZzBA-H | WEEHEICKZE
e : =Y FHE | A-FER | BAER | E o D2% | A28 LLEES | FH{EAD 0.04ppm
TETH | BIE F&ithis (BIE B %] B R EZDEE | LZDEE | RElE | BRIME | LESLORE TEAT-BH
- - HEIDRS
=} R ppm el | % B % ppm ppm H-& H
ERAEESK 97 % 363 8665 0.002 0 0.0 0 0.0 0.035 0.005 = 0
B 97 £ 363 8652 0.002 0 0.0 0 0.0 0.039 0.006 Fiii 0
SERE T
I fE R AT 97 x 360 | 8586 | 0004 | O | 00 | O | 00 | 0071 0.011 & 0
ERF RS 97 % 363 8665 0.003 0 0.0 0 0.0 0.035 0.006 i 0
KERINERR 97-2 £ 355 8544 0.001 0 0.0 0 0.0 0.022 0.004 Fi 0
HEd | BrEthiIEEeE 97-2 5] 360 8631 0.002 0 0.0 0 0.0 0.085 0.006 Eii 0
S REE 97-2 #£T 362 8631 0.003 0 0.0 0 0.0 0.046 0.008 i 0
=emmr | ESY L 42— 100 * 362 8659 0.002 0 0.0 0 0.0 0.055 0.006 i 0
AmRER 100 % 363 8672 0.002 2 0.0 0 0.0 0.131 0.009 2 0
BEh
: N 100 & 362 8666 0.002 1 0.0 0 0.0 0.116 0.008 = 0
BT HHEE 100 S 362 8687 0002 | 3 0.0 0 0.0 0.262 0.008 #.% 0
INFRTE INR R IR 100 * 363 8671 0.001 0 0.0 0 0.0 0.089 0.008 it 0
EET | PFERBHER 97 * 358 8547 0.002 0 00 | 0 0.0 0.029 0.005 i 0
&BEm | WHEHS 100 ] 335 8002 | 0.002 2 | oo | o | o0 0.140 0.008 1" 0
BEEEE2— 100 * 362 8644 0.001 0 0.0 0 0.0 0.065 0.004 e 0
BERBEUIERR 100 HET 357 8579 0.002 0 0.0 0 0.0 0.068 0.006 Eis 0
=T
B A 100 &) 362 8646 0.002 0 0.0 0 0.0 0.078 0.006 i 0
EA=NN=E35) 100 * 362 8639 0.001 0| oo 0o | oo 0.064 0.003 i 0




_gl__

@ —BILER, —BIEERRUEFREEY (NO, NO, NO+NO,: Fi{H)

—Ek1EZ=3%R (NO) ZEEER(NO,) ERIRILT (NOTNO,)
TR BIEAY| 1R RIEAY| B FRIEA| BFaiEa| 98%i{E
SRR H | Ak 18R | BFESME| B % | B 1R  |0.2ppmZEE(0.1ppmELE| 0.06ppm% [0.04ppmEl H BEHE | FEI=E? | & 0 |#@ = 18R | BFHiE Tl
BT REm Rkt FiYlE| & O (] FlE| {8 O |Z=FEREE|0.20pmU | BA=B%[0.06ppmETH @ BEHEA EME| E 0 ]
HEIORS BB B R HmiE| 98%(E | A=A | & M BelE | ETOHE| ORREY | LTORNE| OBRKE | 98%fE | 006ppmE | HIEEL |8 RS BEiE| 98%fE | NO2 /(NO+NO2)
LZDRE ZTOHE BRI

=] B¥fE | ppm ppm ppm =] BERE | ppm ppm BEfEl | % | BRI | % ([B| % |B| % ppm =] =] B¥fE | ppm ppm ppm %
EmRREE 97 e 320 7659 | 0.001 | 0025 | 0.002 320 7659 | 0.003 0024 |- 0 (00| o |oojo| 00 |0]| 00 0.011 0 320 7659 | 0.004 | 0.042 0.013 85.7
pLEESE=T 97 & 362 8638 | 0.000 [ 0013 | 0.002 362 8638 | 0.003 0.022 0 |00l 0 |0ojoO| 00 |O]| 00 0.006 0 362 8638 | 0.004 | 0.034 0.007 88.0
R TR R R 97 ES 362 8633 | 0.002 | 0.051 0.005 362 8633 | 0.005 0.031 0 (00| 0 |oojo| 00 |O]| 00 0011 0 362 8633 | 0.007 | 0.082 0.015 74.9
EEEFEEE 97 & 354 8499 | 0.001 | 0045 | 0.005 354 8499 | 0.004 0.025 0 |00 0 |00j 0| 00 O 00 0.007 0 354 8499 | 0.005 | 0.056 0.011 73.6
KESMGEHE 97-2 % 359 8593 [ 0.000 | 0.021 0.002 359 8593 | 0.003 0.022 0 |00o| o |oofo| 00 |0]| 00 0.006 0 359 8593 [ 0.004 | 0.041 0.007 88.2
BET | BRAHZIRERE 97-2 51 325 7943 | 0.001 | 0067 | 0.004 325 7943 | 0.004 0.024 0 (00| 0 |oojoO| 00 |O]| 00 0.008 0 325 7943 | 0.005 | 0.078 0.011 80.1
MSARIE 97-2 #T 356 8564 | 0.002 | 0.080 | 0.007 356 8564 | 0.007 0.035 0 |0o| o [oojo| 00 [0] 00 0014 0 356 8564 | 0.009 | 0.104 0.022 73.8
= 5AET | RESCYEa— 100 & 278 6871 | 0.001 | 0013 | 0.002 278 6871 | 0.004 0.020 0 [0o| o |oo[o]| 00 |0 00 0.007 ] 278 6871 | 0.005 | 0.026 0.009 84.7
BE{RET 100 53 363 8664 | 0.002 | 0.027 | 0.006 363 8664 | 0.004 0.025 0o |0o| o [oofo| 00 |0]| 00 0.008 0 363 8664 | 0.006 | 0.042 0012 64.8
B SEERINGEE 100 & 362 8661 | 0.001 | 0024 | 0.004 362 8661 | 0.004 0.022 0o (00| o |oo|o| 00 |0]| 00 0.009 0 362 8661 | 0.006 | 0.041 0.012 76.8
i MEEE 100 ES 363 8663 | 0.002 | 0.050 0.007 363 8663 | 0.004 0.026 0 |oo| o |oofo| 00 [0 00 0.009 0 363 8663 | 0.006 | 0.060 0.014 69.2
BT | SFEBSHE 97 * 346 8362 | 0.002 | 0026 | 0.006 346 8362 | 0.003 0.021 0 |00|] o [oofof 00 |0]| 00 0.006 0 346 8362 | 0.006 | 0.036 0.012 51.7
SEH| SEEHR 100 =l 350 8448 | 0.018 | 0.165 | 0.042 350 8448 | 0.014 0.047 o |00l o |oo|o| 00 |0]| 00 0.024 0 350 8448 | 0.032 | 0.195 0.064 4338
IBEEEE2— 100 ES 360 8618 | 0.001 | 0.043'| 0.006 360 8618 | 0.005 0.031 0 (0o o |oojo| 00 |0O]| 00 0.012 0 360 8618 | 0.007 | 0.061 0.015 80.1
AIERIETRR 100 #ET 361 8620 | 0.001 | 0020 | 0.003 361 8620 | 0.003 0.023 0 |oo| o |[oofof 00 |0 00 0.006 0 361 8620 | 0.004 | 0.039 0.009 69.5
EASBR 100 [ 360 8650 | 0.001 | 0.044 | 0.005 360 8650 | 0.006 0.045 0 [oo|] o |[oojo] 00 [0 00 0.015 0 360 8650 | 0.007 | 0.076 0.018 87.2
= %}%ﬁiﬁéﬁka 100 & 361 8635 | 0.007 | 0.085 | 0016 361 8635 | 0.009 0.046 0o (ool o |oojo| 00 |0O]| 00 0.017 0 361 8635 | 0.016 | 0.111 0.031 57.7
. ?ﬁ?ﬂﬁéﬁﬂi 100 . A 362 8651 | 0.009 | 0.116 | 0.024 362 8651 | 0.012 0.057 0 |oo| o [oofof 00 |0O| 00 0.020 0 362 8651 | 0.021 | 0.153 0.039 55.3
EENEHB 100 * 316 | 7565 | 0.004 | 0.066 | 0.014 316 7565 | 0.006 0.032 0o |oo| o [oofo| 00 |0 00 0.013 0 316 7565 | 0.010 | 0.093 0.025 59.4
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@ FILFEA XIS (Ox: EREE)

TR0 1 BT | ERTRI0D 1 e RREOH |
BREAIEREAE BEO1 | A 0.06ppm | fEM 0.120pm | BREI1E | 2518
: Y E FefEfED | Z8A-HE | LLEoB%H |RHEO | HiE?
BT RIED FRiEithisg BH %K BM|lTETHiE & BF & B e fE | FE
EIDRXS :
B R ppm H =355 H =35 ppm ppm
EREEEESK 97 = 365 5386 0.031 54 274 1 1 0.120 0.044
FERE T B4 97 = 361 5309 0.033 62 325 0 0 0.117 0.045
TR AT 97 *x 364 5347 0.027 45 178 0 0 .0.098 0.041
KEB ISR 97-2 5 362 5294 0.032 38 202 0 0 0.104 0.043
HMRAT
HEARSE 97-2 2T 365 5366 0.034 66 366 0 0 0.104 0.046
SHRET  |[EBEOKYE 44— 100 = 365 5371 0.035 62 367 0 0 0.115 0.047
BRI {REERT 100 % 357 5241 0.029 25 151 0 0 0.082 0.042
BEH
HERNER 100 (3 362 | 5312 | 0028 19 101 0 0 0.075 0.038
BT MAEE 100 X 365 5370 0.028 39 203 0 0 0.088 0.041
Bk 100 5] 364 5359 0.029 24 144 0 0 0.086 0.039
=Eni
LA=RIN=E:35] 100 * 364 5385 0.022 9 ) 0 0 0.076 0.033




_81_

@ FEt IR E (SPM: FH {E)

TRIED EEZSTIEN BEHIEA 010 BIE e O E
B S| H = 0.20mg/m3% & | 0.10mg/m3% | 1B | BFY{E | mg/m3%#BZ1=H i) Y =
i E TE | AT-EEZ BAEHE | B 0| 02% | »2BLLES | FHEA 0.10me/m3
A& BIEB ' AiEkihis  |[AIEBES B B LEDEIE EZDEE | BEE| RV E | LiclohE FHRZ-B%
EIDXH

=] FfE | meg/m3 | B R % =] % | mg/m3 | mg/m3 F-&E =]
TR AT 97 *® 331 8114 | 0.018 0 0.0 0 00 | 0.123 0.043 i 0

R
EEEFREKR 97 * 347 8344 | 0018 0 0.0 0 00 | 0114 0.042 i 0
BRI BETIIKELE 97-2 [ 360 8665 0.018 0 0.0 0 0.0 0.107 0.045 g 0
SEEET | BEOKYE E— 100 % 362 8692 0.021 0 0.0 1 03 | 0.131 0.052 i 0
HEEER 100 £ 361 8665 0.018 0 0.0 0 00 | o110 0.047 = 0

BHE™m
SRR 100 * 353 8553 | 0.027 0 0.0 0 00 | 0138 0.060 i 0
T = 100 S 360 8663 0.022 0 0.0 0 00 | 0.137 0.046 = 0
N INRERT 100 *x 364 8713 0.022 0 0.0 0 00 | o.104 0.051 = 0
FERETH R BHEE 97 & 359 8610 0.028 0 0.0 1 03 | 0.146 0.055 i 0
&g i EHEE 100 5] 364 8712 0.026 0 0.0 0 0.0 0.157 0.058 m 0
HEEE5— 100 *x 362 8693 0.020 0 0.0 0 00 | 0.146 0.048 &= 0
BHBEWER 100 T 362 8693 0.024 0 0.0 0 00 | 0.150 0.054 = 0
Ba%kR 100 [ 357 8629 | 0.029 0 0.0 0 00 | 0.158 0.052 o= 0

HIET
aTEEEHR 100 = 361 8643 0.035 0 0.0 0 00 | 0.187 0.060 i3 0
EEBEEE 100 ] 362 8704 | 0.032 0 0.0 0 00 | 0.156 0.059 = 0
EA=lIN=E:35] 100 * 359 8643 | 0.017 0 0.0 0 00 | 0.156 0.044 i 0
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® BN FRYE (PM2.5 - (ERIE)

EEZ] 7 OS%fEZTIm |
g | Al =wE H¥#9f{E | 35ug/m3% 18/ | BESE 12&5
SR . ) EE » HBA-B% E o D BHEH{EM
T4 AIER A&t BAlEBE B R Fi5iE LEDEIE RalE 98%{E 35 1 g/m3%
EXIDIESA ~ *HZ21-A%k
H B | ueg/m3| pg/m3 =] % | g/m3| ug/m3 H
ERE T FERE EREEFT 97 x 357 8582 | 17.2 83.9 16 45 99 415 9
#iEmh MEE=E 100 *x 365 8750 19.5 51.7 22 6.0 80 427 15
=T EH/INEHE 100 sk 5 134 - 26.8 0 - 45 - -

X EEREMAEROT 2L, FR2FEBMITFIKYEPM25)E=4) A TEXEEYORETH D,
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® —REikpER (CO: ERmE)

SERIED | BEBEA BEBEA 10 | EEEEOEH] 1BEES |
F | Ax 20ppm% 10ppm% 1658 | BEHIE | ppmZB 218 | BEEHEIC&2 8 | 30ppmElE &
EVIE FiofE | BAEH | BAEAHR | E © | 02% | H28 LIS | FHEA 10ppm| fot-cs
HTETA HIE R Fiihis  [RIEBZY 65 M LEDEE | LZDEE | BREHE | B E | LCloRE | #82-0% | Ab2E%
EXID]ESAY
H =3 ppm @ % B % ppm ppm F-E B =
TR SIEFEE R 97 & 359 |. 8569 05 0 0.0 0 0.0 1.9 0.7 #® 0 0
i HEEHR 100 5] 365 8690 0.5 0] oo | o] oo 1.9 0.7 i 0 0
ETHEEEHR 100 * 362 8635 0.4 0 0.0 0 0.0 33 0.9 2 0 0
=1 BEEIEEHS 100 =] 115 2758 - 0 - 0 - 14 - 3 - 0
EH/PMEHR 100 *x 350 8394 0.3 0 0.0 0 0.0 39 0.6 i3 0 0




_lz_

@ A

b7k 3 (NMHC : FER5{E)

A & 6~Of; | 6~9 6 ~ 9 If |6~9R3EHTHIE|6~OB BN THE

REVES FHE | ISBTS | B F | 3K F HIE |5 020ppmCEIEZ =[S 0.31ppmCEIEZ 1=

BT HIED F&his B THE| B ¥ | 25 | REE |BHEF0AS|BHEZOE S

fole. AN

FHIDE7 =51 ppmC ppmC H ppmC ppmC =] % =] %
FERE T FERE R IR 97 * 8460 0.04 0.04 349 0.14 0.01 0 0.0 0 0.0
HRH REBINER 97-2 £ 8452 0.06 0.06 348 0.20 0.02 0 0.0 0 0.0
Elﬁl‘rﬁ R BHEE 97 = 8494 0.12 0.15 339 0.70 0.06 40 11.8 13 3.8
Eth W EEER 100 ] 8707 0.10 0.14 364 0.51 0.01 81 223 12 33
ETEEEEER 100 £ 8644 0.14 0.14 361 0.28 0.05 27 15 0 0.0
5507 HEEEER 100 5] 8581 0.12 0.14 357 0.43 0.01 52 14.6 11 3.1
=A=PN=E:35 100 3 6240 0.09 0.09 261 0.22 0.00 3 1.1 0 0.0
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A3 B U RIEKER (CH,, THC: &£ [H{E)

XA (CHy) ZRIL/Ke& (THC)

# E 6~9FF | 6~9F5| 6 ~ 9 B | = 6~908 | 6~98| 6 ~ 9 BF

SHlE EHE|I2BITSH ] Bl E 3 B [ EHE|ICHTE 8 = 3 B i

LELIES) BIE R Ak | B [ EHE(IE %] FHE B [ THEIR # ¥ {E
- EIDREH x| XIEE el | RIEE
B | ppmC | ppmC =] ppmC | ppmC H%FEﬁ ppmC | ppmC H ppmC | ppmC
TERETH T R IERT 97 * 8460 | 1.87 1.88 349 205 | 1.73 | 8460 | 1.91 1.92 349 217 | 1.75
BRT | REB/DER 97-2 1% 8452 | 1.87 1.87 348 198 | 173 | 8452 | 1.93 1.94 348 212 | 1.77
ERET | HEREBEED 97 =F 8494 | 1.89 1.90 339 210 | 1.71 | 8494 | 201 2.05 339 254 | 1.79
MEH | BEEHES 100 ] 8707 | 1.97 2.09 364 265 | 1.74 | 8707 | 2.07 2.23 364 290 | 1.75
ETHEEEHR 100 % 8644 [ 1.90 1.96 361 232 | 164 | 8644 [ 203 | 210 361 246 | 1.75
BlET | EEBEEEE 100 5] 8581 | 1.89 1.92 357 221 | 1.72 | 8581 | 201 2.06 357 245 | 1.77
=A=PIN=E:35) 100 * 6240.| 1.89 1.92 261 | 223 | 165 | 6240 | 1.98 2.01 261 228 | 1.77




